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(a) 1

(b)

14+1=77
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N v
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eln? — 7?7

(@) 7

(b) DNE

(c) el /2

(d) none of the above
0% 0% 0% 0%

R v % ™

1 2 3 4 5 6 7 8 9 10111 12131141516 |17 |18 ] 19 | 20
21 | 22 | 23 } 24 | 25 | 26 | 27 |} 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40
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logg(1/8) = 77

(a) 0
(b)1

(c) -1

(d) none of the above

0% 0% 0% 0%

R v % ™

1 2 3 4 5 6 7 8 9 10111 12131141516 |17 |18 ] 19 | 20
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(a) —z3/6

(b)1

(C) z

(d) none of the above
0% 0% 0% 0%

R v % ™

1 2 3 4 5 6 7 8 9 10111 12131141516 |17 |18 ] 19 | 20
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/a6 + ot
lm

= 77
0+ t(sint)

(a) DNE

(b) oo

(c)3

(d) none of the above
0% 0% 0% 0%

R Vv > ™
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- 3 4 -
, x> + x
lim =77

x—0 T — Sin T

(a) DNE

(b) 6

(c)1/6

(d) none of the above
0% 0% 0% 0%

R Vv > ™
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P(z) = (z —3)"(z? + z + 4)
Q(z) = (x —3)8(522 + 9z — 7) lim =77

(a) 0

(b) oo

(€) —o0

(d) none of the above
0% 0% 0% 0%

R Vv > ™

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
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END
QUIZ



END
CLASS



INl = 77

(a) 1
(b) O

() -1

(d) none of the above

0% 0% 0% 0%

R v % ™

1 2 3 4 5 6 7 8 9 10111 12131141516 |17 |18 ] 19 | 20
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10910(100) = 77

(a) 0

(b)1

(c) 2

(d) none of the above
0% 0% 0% 0%
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1095(16) = 77

(a) 3
(b) 2

()1

(d) none of the above

0% 0% 0% 0%
Correct answer: 4 . 5 . N
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|ng(1) = 77

(a) 0
(b) —1

()1

(d) none of the above

0% 0% 0% 0%

R v % ™

1 2 3 4 5 6 7 8 9 10111 12131141516 |17 |18 ] 19 | 20
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20 — 77

(a) 0
(b) —1

()1

(d) none of the above

0% 0% 0% 0%

R v % ™

1 2 3 4 5 6 7 8 9 10111 12131141516 |17 |18 ] 19 | 20
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INQ = 77

(a) 0
(b) —1

()1

(d) none of the above

0% 0% 0% 0%
Correct answer: DNE N 5 . -
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|ng(1) = 77

(a) 0
(b) —1

()1

(d) none of the above

0% 0% 0% 0%

R v % ™

1 2 3 4 5 6 7 8 9 10111 12131141516 |17 |18 ] 19 | 20
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In(e?) = 77

(a) —5

(b) 5

(c)1/5

(d) none of the above
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|Ogg(8) = 77

(a) 0
(b)1

(c) -1

(d) none of the above
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R v % ™
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|Oglo(0 01) = 77

(a) 0
(b)1

(c) -1

(d) none of the above

0% 0% 0% 0%
Correct answer: —2 N 5 . -
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(a) 1
(b)
() —z

(d) none of the above
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(a) 1
(b)
() —z

(d) none of the above

0% 0% 0% 0%
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lim = 77

(a) DNE

(b)1/3
(c)—1/3

(d) none of the above
0% 0% 0% 0%
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lim = 77
T— — 00 3T

(a) DNE

(b)1/3
(c)—1/3

(d) none of the above
0% 0% 0% 0%

R v > ™

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
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lim = 77
T— — 00 3T

(a)—1/3
(b)1/3

(c) DNE

(d) none of the above
0% 0% 0% 0%

R v > ™
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COSx ~ Fale

(a) —z3/6

(b)1

(C) z

(d) none of the above
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(a) —z%/2

(b)1

(C) z

(d) none of the above
0% 0% 0% 0%
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(a) =

(b) cosx

(c) —coswx

(d) none of the above
0% 0% 0% 0%

R v % ™

1 2 3 4 5 6 7 8 9 10111 12131141516 |17 |18 ] 19 | 20
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3234+ 22 ~ 77
x — 0

(a) 323

(b)O

(C) 2z

(d) none of the above

0% 0% 0% 0%
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33422
lim _ —
x—0 SINx

?7?

(a) o

(b) 2

(c) 3

(d) none of the above
0% 0% 0% 0%

R v > ™
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425 — 724 4+ 4z
im | AE e AT ) o,

r—0 | =223 4 722 — 4z

(a) =2
(b) 1

(c) -1

(d) none of the above

0% 0% 0% 0%

R v > ™

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
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420 — 724 44
lim A e e A S

r—0 | —2z3 4+ 722 — 4sinz

(a) =2
(b) 1

(c) -1

(d) none of the above

0% 0% 0% 0%

R v > ™
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Dt° 4 8t
t—0 | t2(sin?t)

(@) 0
(b) oo

(€) —oo

(d) none of the above
0% 0% 0% 0%

Correct answer: 8 N N S N
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P(z) = (z — 3)°(z? +z + 4)
Q(z) = (x —3)8(522 + 9z — 7) lim =77

(a) 0

(b) oo

(€) —o0

(d) none of the above
0% 0% 0% 0%

R Vv > ™
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P(z) = (z — 3)°(—22 —z — 4)

_ - Px)
Q(z) = (x —3)8(522 + 9z — 7) xl@+ o) = 77
(a) 0
(b) oo
(C) —oo

(d) none of the above
0% 0% 0% 0%

R Vv > ™
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